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OHM'S LAW

1.

How much current flows in a 1000-ohm resistor
when a volta§e of 1.5 V is impressed across it?
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If the filament resistance in an automobile £ TO FIND THE
headlamp is 3 ohms, how much current does it %UUW%
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The resistance of the side lights on an automobile is
10 ohms. How mugh current flows in them when
they are connected to a 12-V 12
battery?_1.2 A-ps S0
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CONDUCTORS AND RESISTORS
HAVE RESISTANCE TO THE
CURRENT IN THEM.

What is the current in the 30-ohm heating coil of a coffee
maker that operates on a 120-V circuit? v Y X=

4.0 A~ps 2~ 30

During a lie detector test, a voltage of 6 V is impressed across two fingers. When a certain
question is asked, the resistance between the fingers drops from 400 000 ochms to 200 000
ohms. What is the initial current through the fingers, and the current when the resistance

between them drops? -5
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How much resistance aflows an impressed voltage of 6 V to k
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What is the resistance of a clothes iron that draws a current of 12
Aat120v? 16 J 110 =122

What is the voltage across a,100-ohm circuit element that draws a -
current of 1 A? oo V.l«\ls v=TE =\ (:oo}

The current in an incandescent lamp is 0.5 A when the lamp is connected to a 120-V circuit,
and 0.2 Awhen it is connected to a 10-V source. Does the resistance of the lamp change in
these cases? Explain your answer and defend it with numerical values.
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